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SECOND MID TERM TEST - 2024

¢ standard X Mg
MATHEMATICS :
Marks :
Time : 1.30 hrs Part-| 7x1=7

l. Choose the correct answer: does AB have?

lumns
1. If ‘A’ is @ 2 x 3 matrix, and ‘B'is a3 X 4 matrix._how many colu iR
a) 3 b) 4 c) 2 ‘

‘ ""g b 18 (57 \
.m-a\_atrix'X‘HZX+(5 7]:(9 5J \

: 2 1)
1 2
S 2 -2 g c:[ 2) 4 [2 )
a) ? 1 b) 9 o - . l
d ' is V3 nthe angle
3. Ifthe ratio of the height of a tower and the length of its shadowis /3 :1.the
. e
F ' has measure )
of elevation of the sun 560° & o |
- levation
s e is 60 m heigtt:t) its shadow reduces by ' metres. When the angle of ele
i . 5. .
% 2fl$t:-esrun increases from 30° to 45°, then x4;s. ;qual to = sl
2 <ok gt whosecmd!usin&m and slant height is 13 cm will
cone
5. The heightof 2 right circular
y | ' 13 cm d)5em
o ~ ' meter
6 $21e1 guc;:'ned surl'aceb;rea of right circular cone of height 15 cm and base dia
| ' 2
1)‘5 gr;nlscmz by 68n cm? ¢) 120n cm? d) 136n cm
a * -
of a quadratic equation is @ : o i
i S}m:;aight?ine b) circle c) parabola ) hype
i Isory) 5x2=10
5 questions. (Q.No.14 is compu .sory P
n'a g:m?s xqs":mx whose elements are given by 8; = [i -2l
1 8 5 7
L sa B=13 3| \erifya+B8=B+A
4 Bacd 10

oint on the ground, which is 48 m

10~ A tower stands vertically on the ground. From 8 PE™ "% ¢ ke tower is 30°.

from the foot of the tower, the angle of elevat

i i f the tower. ‘ : o
- t?:ohtglg gtfg trez of height 13 m, the angle of elevauop and dap.rests:f:;:f op
4 ;admbotlom of another tree are 45° and 30° respectively. Find the height ¢

A e '732) s 7 ¢m and 704 cm?. Find its slant height
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13 Fin @ diameter of a sph - x
SPhere whose g face area is 154 om?
| 1 4 9
A 4 16
4 N :
| el 1
90 35 gl SMOWthay (AT] A
lll. Answer any 5 questions ey S
(Q.No.21 Is compulsory) S5x5%2y

15 Define the following matrices with sXamp|
a) Diagonal matrix of 3x3 order. (2 r'r'rlrlue:}?EI
b) Scalar matrix of 4x4 order. (2 Marks)
c) Identity matrix of 3x3 order. (1 mariz

7 8 8) 4 1305
1 3 9|Bs| 42 4
TS

b

Jhen find 2A + B

16" 1f A=

a*

% 1 1 2 -7 8
1?.“‘""““[_1 3) B=[_4 2‘] C-‘{a 2J,uerifythaiA{B+C}=AB+AC

18. Two ships are sai[ing in the sea, on either sides of a lighthouse. The angle of elevation
of the top of the lighthouse as observed from the ships are 30° and 45° respectively.

If the lighthouse is 200 m height, find the distance between the two ships [,fi =1 732)

19. A statue 1.6 m.tall stands on the top of a pedestal. From a point on the ground, the
angle pf elevation of the top of the statue is 60° and from the same point th
elevation of the top of the pedestal is 40°. Find the height of the . |

(tan 40° = 0.8391, V3 =1.732) _
20. The radius and height of a cylinder are in the ratio 5:7 and jts curved surface area is

5500 cm?. Find its radius and height.
21. a) Ifthe radii of a circular ends of a frustum which is 45 cm high are 28 cm and 7 cm.

Find the volume of a frustum.

- - (OR)
b) State and prove Pythagoras Theorem.
Part -1V

IV. Answer any one of the following. _ 1x8=8
22. a) Draw the graph of x% - 9 x + 20 = 0 and state the nature of their solutions.
(OR) |
b) Take a point which is 11 cm away from the centre of a circle of radius 4 em and
draw two tangents to the circle from that point.
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